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Diagramme ablesen

Name:

Entscheide, welches Diagramm zu welcher Tabelle gehort.

Antworten

1) Per sonen 2) Per sonen
8.000 6.000
6.000 4.000
4.000 3.000
9.000 8.000
3.000 9.000
3) Per sonen 4) Per sonen
9.000 3.000
8.000 9.000
3.000 8.000
6.000 6.000
4.000 4.000
5) Per sonen 6) Per sonen
3.000 4.000
4.000 9.000
8.000 6.000
6.000 3.000
9.000 8.000
10000 B 5. 10.000 — c. 10.000
8.000 — 8.000 8.000
6.000 6.000 6.000
4.000 4.000 4.000
2.000 ﬂ H 2.000 H 2.000 Hﬂ
0 0 0
D, 10000 £ 10000, £ 10,000
8.000|[ |— 8.000 — 8.000
6.000 6.000 6.000
4.000 4.000 4.000
2.000 ’_‘ H 2.000 2.000 ﬂ H
0 0 0
G. 10000, 4 10.000 | 10000
8.000 — 8.000 8.000 —
6.000 6.000 6.000
4.000 4.000 4.000
2.000 H ’_‘ 2.000 H ’_‘ 2.000 ’_‘H
0 0 0
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Diagramme ablesen

Name:

L dsungsschltissel

Entscheide, welches Diagramm zu welcher Tabelle gehort.

Antworten

1) Per sonen 2) Per sonen
8.000 6.000 1. _ B
6.000 4.000
4.000 3.000 s C
9.000 8.000
3.000 9.000 s D
3) Per sonen 4) Per sonen
9.000 3.000 4 A
8.000 9.000
3.000 8.000 .
6.000 6.000
4.000 4.000 .G
5) Per sonen 6) Per sonen
3.000 4.000
4.000 9.000
8.000 6.000
6.000 3.000
9.000 8.000
[ o
A, 10000; 5. 10.000 B c. 10.000 -
8.000 — 8.000 8.000 —
6.000 6.000 6.000
4.000 4.000 4.000
2.000 ﬂ H 2.000 H 2.000 Hﬂ
0 0 0
D. 10000 E. 10000, £ 10,000 -
8000|[ |— 8.000 — 8.000 —
6.000 6.000 6.000
4.000 4.000 4.000
2.000 ’_‘ H 2.000 2.000 ﬂ H
0 0 0
G. 10000, . 10.000 | 10.000 B
8.000 — 8.000 8.000 —
6.000 6.000 6.000
4.000 4.000 4.000
2.000 H ’_‘ 2.000 H ’_‘ 2.000 ’_‘H
0 0 0
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